
MOBILE6 MOBILE STAND ASSEMBLY
Please ensure to read instructions fully before assembly. Remove all contents from boxes 
before assembly. 

Step 1: WHEELS 
Place base on protective surface. Th e long ends of the base are the front of the trolley. Th e 
brake wheels can be attached to either the front or the back of the trolley. Attach all 6 wheels 
using the M12 nyloc nuts.  

Step 2: ATTACHING UPRIGHT 
Remove backing plate from upright using philips  head screwdriver. Set aside backing plate 
and screws for later use. Stand upright over base lining up the  holes. Using the 4 x M8x30 
bolts, 4 x spring washers, and 4 x M8 nuts attach and fasten the upright to the base.  

Step 3: SHELF (optional) 
Using the 2 x M6x16 philips head screws attach the shelf to the upright.
 

Step 4: ATTACHING MOUNTING PLATE 
Using the 4 xM8x20 bolts and 4 x M8 spring washers attach the mounting plate to the stand 
upright at the desired position. Th ere are 3 positions to select from.  

Step 5: ATTACHING TOUCHSCREEN 

Lift  touchscreen onto the stand. 
Th e brackets that fi t over the  mounting plate are 
already attached to the touchscreen. 
Th e mobile stand is now ready to use.  

For any technical support on stand assembly 
please contact ABI on 02 9938 6866.


